
Practice Final Exam - 3 5 x < -1 
-15x<1 

Use the following graph off(x) to answer /_ 
questions 1-4. / t,\? 

X 

1. Determine the interval(s) over which the 
functi<?n is incr~sing. . _\ 

(-oO;-1) -+ ({ JoO/ 

2. Determine the interval(s) over which the 

function isc~c~:·s0 
3. Identify the positive i{lterval(s). "-

(-;;;. 0) (2-;oO/ 
4. Identify the negative interval(s): f~ -.1)~"\ 

5. Domain: (-o0 oO) (OI :;i...,,J
1 

6. Range: c-~1 ~ 

l
7. Without graphing, use the piecewise function 
to evaluate the following: 

-x+6 -45x<O 
f(x) = ix-1 15x<6 

65x<8 

b. /(6)

ED 
8. Graph f(x) = (x - 2)2 - 3 

2-t 1 3D\" 
---+--~· St--------+---

11.~~-:- x+4 - 2 ~+5) 

3y..> f-)(2-- +4>l - / 

12. (2x2 + 5)(-3x2 + 4x - 1) 

-~! --,..:Jox-5" 

13. Divide (x5 + 2x4 
- 3x3 + x - l) + (x + 2) 

-;2( I ;;;_ -3 o I --/- --2 O " -12 22 

-5 0 5 X 

C • I 
' -5 - ~;i.,:3) 

((0 



21. Determine the end behavior of the function 
15. Fini[~sc~:=~::f ~) f(x) = 3x4 

- 12x + 2 

16. Find the x-intercepts of As x ~ -oo,f(x) -12§) 
f(x) = x 2 

- 10x + 21 ~t 7 As x ~ oo,f(x) ~Joo j 
0 :::. X 2 

- /OX t Z ( i· 1,~c-r 
'fuV x2-9o·:::- (x-7)&, -3) V 22. Simplify: ---

x +3x-18x::;_ 7 >G--~ 
2 

/(71 o) (.3, o)/ 
(>:. f-3 

._..:::.._-~-..:::.
('I-+ bJ 

17. Factor completely: 4x3 + 24? + 32x 

L/~(x2 +-tox r&)
[cix (-;-, +-V& +-2;>) 

18. Given f(x) = x 3 + 6x2 + 3x - 10 has a 

factor of (x -~1)~-~fi~~-l.L..!:.! 

_!J i lo 3 -/D r~(~~~'><,/}f'-
.- . I 7 ID 'X' \cf~~~ 

Ix. z 7x:_ iDe,, Q-- ~{'~f' -g0 -,; 

. 2 . ~t -r7x +JD. 0 

19. Given the roots/zeroes of the polynomial, 
write the function in standard form. . . 4x2 -12x . Sx2 -15x 'j)

24. Sim 11 : -:-p fy x 2 +2x-15 4x+20 

20. Which of the following graphs could be a 
graph of a function with zeros of: 

4 6 ~ () .' (X-+-iP'--!) 
X =-1,oith~Jf\t_~ 25. Simplify:- - -

x-3 ·x:l g •0 B :. tf\,...c,v
l:::) V (x+ifr~

6 
6 q&-+3 - &:> 
-I 

• 1-- t-3) {x--3) 
-~ -2 

L1')Lt-i?---h ~ 4x+0 • 
7Y-+3){x -:V ?;rijx-~ _ 

I 

8 

6 
-I 

2 
:r: 

~ 

-6 
-8 



x-11 5 2 

26. Simplify. 
2 

+ - 30. Find the y-intercept(s) of f(x) = x +s 
;c I 6re 4.9 x-4 X 2 -11 

O<t-10)& -t/) 
x- I -i-- 6Cxho) 
( x+-to)(x-</ 

X - /I +- Sx +-~o 

(px. +-s'J 
Cx+- 10) (x-<1) 

27. Solve for x. Check for extraneous solutions. 

3x + 2 2x + 5 2 
-5 3 15 

3C3x+-;}.)- (loxf-2~ :;- ;;;2. 

CJx 1-t;,-/0¥ -.2~---:2 

- X - I 9 .::::: ::;:2 

-x~:;i.1 

/x==--~I} 
29. Identify the vertical asymptote( s) of 

3 
f(x) = (x +2)(x - 6) 

j~ -+, 
{-(o,-f,)) 

31. Rewrite the following in radical form: 
5 

3 

32. Simplify 362 

33. Solve. Make sure to check for extraneous 
solutions! 

3-,/3x + 7 = 15 

(&tfr~)z_ 
3xr7 =;).S 

3x~ 
~ 

34. Factor: 2x3 + 3x2 + 4x + 6 

. ~ X ~f:S f-~xt-i) 
{zx.+3 z+-~ 

35. Simplify: (5x - 1)(2x + 3) 

/Ot.-:i..-r!S-x-:»< -3 
L1ox2-+l3Y-3 f 

36. Simplify: (6x - 5)2 

/3fox 2
- bDx. +~7 



/+4 J(.+1
37. Find the domain off(x) = 

X -5x+6 {x-~&-;;2) 

it-tJ ucept-..,..;i__ 
x 2 - 9 &t3,Vx_ -:s)

38. Find the x-intercept(s) of f(x) = - - v-,~ 

)( ~ 3 / - ?, X 

2

10-,o-)-{-3-/-S)-7 

39. Find the horizontal asymptote of 
x+4 

f (x) = x 2-sx+6 

40. Find the horizontal asymptote of 
x 2-9 

f(x) = x2-11 

41. Solve: x 2 
- 20 = -56 

0 


